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TABLE A.1 (continued)
Binomial Probabilities (n equal to 12, 14, and 15)

n=12 p

xl .05 .10 .15 .20 .25 .30 .35 40 .45 .50

0 5404 2824 1422 .0687 .0317 .0138 .0057 .0022 .0008 .0002 12
1 3413 .3766 3012 2062 1267 .0712 .0368 0174 .0075 0029 11
2 .0988 .2301 .2924 .2835 2323 .1678 .1088 .0639 .0339 .0161 10
3 .0173 .0852 1720 2362 2581 2397 .1954 .1419 .0923 .0537 9
4 .0021 .0213 .0683 1329 .1936 231 2367 2128 .1700 .1208 8
5 .0002 .0038 .0193 .0532 .1032 .1585 .2039 2270 2225 .1934 7
6 .0000 .0005 .0040 .0155 .0401 .0792 11281 .1766 2124 .2256 6
7 .0000 .0000 .0006 .0033 .0115 .0291 .0591 .1009 .1489 .1934 5
8 .0000 .0000 .0001 .0005 .0024 .0078 .0199 .0420 .0762 .1208 4
9 .0000 .0000 .0000 .0001 .0004 .0015 .0048 .0125 .0277 .0537 3
10 .0000 .0000 .0000 .0000 .0000 .0002 .0008 .0025 .0068 .0161 2
1 .0000 .0000 .0000 .0000 .0000 .0000 .0001 .0003 .0010 .0029 1
12 .0000 .0000 .0000 .0000 .0000 .0000 .0000 .0000 .0001 .0002 0
.95 90 .85 .80 .75 .70 .65 .60 .55 50 xT



